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Question 1.Select the related word/letters/numbers from the given alternatives:
2 T2 Riepeat & & Gaf=Aq e/ s1erl/ e ot gl
Medicine : Patient : : Education : ?

Sftafey : Auft :: fRyam: 2
Options:

1) Teacher

STETUh

2) School
e

3) Student
EIE

4) Tuition

[SRiE

Correct Answer: Student
B/

Candidate Answer: Student
B

Question 2.Select the related word/letters/numbers from the given alternatives:
A M Rreneul § @ afAa <1/ 91erRi/<en & 9Tl

LAMP : IXJM = FISH : ?

Options:

1) CGPF

2) CFQE

3) CFPE

4) CGQF

Correct Answer: CFPE

Candidate Answer: CFPE

Question 3.Select the related word/letters/numbers from the given alternatives:
20 T faeeat & @ Tafaa srea/s1eRl/<war @l gRg)

13:20::17:7?

Options:

1) 25

2) 26

3)27

4) 28
Correct Answer: 28
Candidate Answer: 28
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Question 4. Downloaded from www.qmaths.in

For the following questions

Find the odd word / letter / number from the given alternative

f&q g faheul # @ faws rea/sreRr/<w@ ot gy
Options:

1) Rival

ufag=l

2) Opponent

foryeft

3) Foe
k!
4) Ally
A=

Correct Answer: Ally

e}

Candidate Answer: Ally
A=

Question 5.

For the following questions

Find the odd word / letter / number from the given alternative

f&q g faheat # @ faws erea/ e/ ot gy

Options:
1) POCG

2) KLIZ
3) BUDX
4) FQMV

. .Correct Answer: FQMV )
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Candidate Answer: FQid@wnloaded from www.gmaths.in

Question 6.

For the following questions

Find the odd word / letter / number from the given alternative

f&q g faheut # @ faws erea/ e/ ot gy

Options:
1) 36 - 48

2) 56 - 44
3) 78 - 66
4)33-64

Correct Answer: 33 - 64
Candidate Answer: 33 - 64

Question 7.Arrange the following words as per order in the dictionary

fAfeiRaa <real ot eregapiar 7 f&Q 17 o & SR feifey

1. Ambitions
2. Ambiguous
3. Ambiguity
4. Animation
5. Animal

Options:
1)3,2,4,1,5

2)3,2,5,4,1
3)3,2,1,5,4

4)3,2,4,5,1
Correct Answer:3,2,1,5,4
Candidate Answer:3,2,1,5,4
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Question 8.A series is given, with one term missing . Choose the correct alternative from
the given ones that will complete the series .

ffofed usr 5 ga srepe féar ma 8, fod ges ug g1 fau 71 faeneut 7 & ag 8t fadhea
T St SrgehH Rl TR A

CAT ,DBT,ECT,?

Options:

1) DCT

2) FDT

3) FCT

4) FAT
Correct Answer: FDT
Candidate Answer: FDT

Question 9.A series is given , with one term missing . Choose the correct alternative from
the given ones that will complete the series .

fAfofed us d ga srgern féar man 8, fSed Tes ue o 21 faw 71 faereut 7 & ag 98l fadhea
G ST SFgehH i GRT Y

5,11,24,51,106,___ 7

Options:

1) 122

2) 217

3) 120

4) 153
Correct Answer: 217
Candidate Answer: 217
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Question 10.Showing alAyy BhaRsIaegd cravesidY ‘B LM brother of the daughter of
the wife of my husband . How is the man on stage related to Rita ?

H9 TR Ueh 3N bt ferd gu Adr A ahgl, " ag MR ufd &l Ut &l it a1 9id 81 " He wR Iufedd 39
&Y T AT § o1 Hag 8 ?

Options:

1) SON

o

2) HUSBAND
afd

3) COUSIN

<TRR1/ T/ AR/ RRT
4) NEPHEW

e

Correct Answer: SON
kel

Candidate Answer: SON
kel

Question 11.The age of Dr. Pandey is four times the age of his son. After 10 years, the
age of Dr. Pandey will be twice the age of his son . The present age of Dr. Pandey's son is

ST, UTuSY <l 31 ITch Al chl MY bl AR AT g1 10 99 T SI. gTued hl 311 3+7ch G ohl g &
Tt g1 SITQeft| €. urudy & g hl gd A S Id18T ?
Options:

1) 4 years

4 9

2) 5 years

5y

3) 6 years

6 a%

4) 8 years

8 a9

Correct Answer: 5 years

5y

Candidate Answer: 5 years

59y
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Question 12.From the dﬂ@m&ﬁﬁﬂd Wepda Waawt eHRabGviRich cannot be formed
using the letters of the given word :

fahed & @ a8 T8 gAY STt 3T TG 216c o S7&RT ST TANT hech ol ST ST HehdT ?
INTELLIGENCE

Options:

1) CANCEL

2) NEGLECT
3) GENTLE

4) INCITE
Correct Answer: CANCEL
Candidate Answer: CANCEL

Question 13.1f Cis coded 3, DASH is coded as 32, then DANCE will be coded as

gfe C ot ford) et A 3 foRaT ST, DASH aht 32 forRar Sig, at DANCE hf 3T avle # & foran
SITQAT 2

Options:

1) 20

2) 25

3) 26

4) 27
Correct Answer: 27
Candidate Answer: 27

Question 14.I1f ' + ' means minus, ' - ' means multiplication, ' + ' means plus, and ' x'
means division, then

i + o1 31 g1 B, - 1 A 70N §, + T 37 FTAT 8, 3R x okl 37 97 g, af Aefafed ust ot ga1
HIfSIg ?

15-3+10x5+5
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1) 52

2) 48
3) 22

4) 5
Correct Answer: 48
Candidate Answer: 48

Question 15.A certain system is followed to solve the problem . Accordingly find out the
correct answer from the alternatives for the unsolved equations .

fAfofed uy # oo giteon o1 ga Merre™ & forg uen fafre gorret sor gat forar man @1 o
GHIhUT hT &1 o] [-ehTadT 14T g, 39T fafAe gumeft @ 39 GHIehor o1 IR A1d Shifolg

7x4x9=479
9x5x2=592
6xXx9x5=965
8x6x2="7

Options:
1) 286
2) 682
3) 628

4) 268
Correct Answer: 682
Candidate Answer: 682
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Question 16.Find the mfdsMyHOREQd bR eyt siRraihvein
f&Q g fahedt # @ @ T A1d e

7 10 | 5

16 40| 8

15 ? 9

Options:
1) 75

2) 45
3) 20

4) 30
Correct Answer: 30
Candidate Answer: 45

Question 17.Sanmitra walked 8 m towards the north. He turned to his right and walked 16
m , then he turned to his left and walked 5 m and again he turned to his left and walked
16 m . In which direction is he from his starting point ?

AT IR T 37R 8 Hiex Tt 3R SR gHes 16 Hiex Te| fhe 31+ o gHeRe 5 Hiex 9| ag fhe
Y 3R HET 3R 16 Hiex T 376 I8 U+ URFHG W+ & fhg fesn # g 2

Options:

1) South

afaror

2) East

Pl
3) North
3TY

4) West
afgH

Correct Answer: North
3X

Candidate Answer: North
3dX
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Question 18.Consider thtayvehaisied dmpsroverusisnatiagide which of the given
conclusions/assumptions can definitely be drawn from the given statement.
Statements :

1. Some teacher are followers.

2. Some followers are famous.

Conclusions:

|. Some teachers are famous.

[I. Some followers are teachers.

fAafaf@a us & o a1 g a<he 33 T §, [S1geh Mt &) fAsend/am=aarg, | 3R 11 fRepret T 8|
3MMUch foaR T € foh a<he T & 918 98 9TH=ad: d a1 O {99 Udid gidr g1 simueh! fAofa
&A1 & b U U aher & @ ala-a1 [RfYa =0 @ 98} Rsendl/ar=aar fReprerr ST genrdar & 2

a<hed ;1. $S AU A 8

2. $© Sl ufeig g1

fAsehy : | g STy Ufig 81

|| P& ITARIt SreATUH &1

Options:

1) Only conclusion | follows

eharel (AwhY | F81 81

2) Only conclusion Il follows

chad fsny || 98l 81

3) Both conclusion | and Il follows

frsend | 3R 11 1 TEt &

4) Neither conclusion | nor Il follows

1 dt ARy | F81 g 3R A1 g1 sy || 98t 8

Correct Answer: Only conclusion Il follows

chae AR || 98t 81

Candidate Answer: Only conclusion Il follows

chae fAsh || 98T 81

Question 19.How many triangles are there in the question figure ?

U 3MThfd | foha Ast € 2

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Options: Downloaded from www.qmaths.in
1)18

2) 24
3) 28

4) 30
Correct Answer: 28
Candidate Answer: 28

Question 20.1dentify the diagram that best represents the relationship among classes
given below

Ig RE gAY S i faq 71 et o st g8t T onl geridr g ?

Delhi, Sri Lanka, Asia
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1)

©

TN
N

w
TN

&

L i e i e

Candidate Answer:
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Question 21.Which ansWeilglRast@ehidte B e atver Rl M eddguiation figure?
-t IR 3MThfd U MTepld & ufdwy g1 st ?

Options:

1)

2)

3)

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Correct Answer: Downloaded from www.qmaths.in

Candidate Answer:

Question 22.From the given figure, select the one in the question the figure is hidden /
embedded

&Y 118 IR SATehiaal # § IY IR HTehld ol IAT fS9H U arepfa Afgd g 2

<
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1)

A
4
A
4

Correct Answer:

S

Candidate Answer:

S3
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Question 23.A piece of B&pemiaald edla@Eat Wy ehoAREHIBW - #the given answer
figures, indicate how it will paper when opened .

gfe forelt st aht, i U Sirepfaat # i@y SIaR AYSe h1el ST dt Wie & a1¢ I8 fohd 3R
MTepfd i feaTs & 2

JJJJJ

Options:
1)
S —

©

2)

e

&

Correct Answer:

EEEEEEEEEEEE

@)
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Candidate Answer: Downloaded from www.gmaths.in

©

Question 24.1f a mirror is place on the line MN , then which of the answer figures is the
right image of the figure ?

& Geh gUuT el MN T UR @1 SI1Q af & 78 IR SMhiaddi H F ehiH- 3Tehid T2 3MTepfd ehi Tal
nfafers givt 2

M N

()

ns
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1)

Correct Answer:

L.

Candidate Answer:

L

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 25.In the quedBENY R |@stel RO dFRERMAY Wi dRNEIRSsE of numbers as given in
any one of the alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given below. The columns and rows of
Matrix | are numbered from 0 to 4 and that of Matrix Il are numbered from 5to 9. A letter
these matrix can be represented first by row and next by its column, e. g.,' A' can be
represented by 01, 13, etc. ., and ' B ' can be represented by 58, 69, etc. . Similarly, you
have to identify the set for the word ' FINE*

ffofea us 7 faeeat 7 &y Ty dwe-awg, siert & &t a7l gRT &20¢ 1Y 8, oid foh e g g &
gl A g1 SMTg | & Far 3R Ufth h @10 ¥ 4 der QY 1S 8, 3R 3T 11 h 59 9 deh, 34
TGl ¥ Ueh 38R i Uget IGch! Ufth 3R d1g H TawT AT gRT AT ST HehdT 8| IaTeX0T & folg,
A @t 01, 13, 3MfE GRT SRATIT ST TehdT & AT B &t 58, 69,3111 RT =TT ST YehdlT g | 3L aRg I
3MYeht {4 2rec 'FINE' & folq 99g ol ugam- 81

MATRIX | MATRIX I

o a2z |4 516 | 7|8 |8
0 |F A N O I 5|5 E H B T
1|1 [0 F|A [N 6|H|S|E|T |B
2 |A N |O I |F 7|B|T|S|E|H
3|0 |F |1 [N |A B(E|H| T|B |g
4 N | A |F 0 9 I BS E.gukl B

Options:

1) 00, 04,02, 56
2)12,10,13, 67
3)24,19,31,78

4) 31,32,33,87
Correct Answer: 00, 04,02, 56
Candidate Answer: 00, 04,02, 56

Question 26.Who propounded the "Doctrine of Passive Resistance"?

"nf=rgul gfaRty” (Faamg) a1 g fera= ufaarfea forar o 2

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Options: Downloaded from www.qmaths.in
1) Balgangadhar Tilak

drerimeR faeten

2) Aurobindo Ghosh

iRl gy

3) Lala Lajpat Rai
ATAT ITSTUd X

4) Bipin Chandra Pal
fafte == gt

Correct Answer: Aurobindo Ghosh
CINICEARIL
Candidate Answer: Aurobindo Ghosh

K IRIEEARSIL

Question 27.At Rio Olympics, what was the final position of Dipa Karmakar in her
category?

&1 AR ot Rt SieTfies Tefl A 31U+ aif & ahl= I W oT1?

Options:
1) 4

2) 5
3) 6

4)7
Correct Answer: 4
Candidate Answer: 4

Question 28.The 14th Finance Commission has recommended increase in States share in
net proceeds from tax collection from 32% to

14 d faed STANT A R IGeil & g arelt fAaer oma | Irsat a1 fg&1 32% 9 gTeR fohat ufaera
e <hl fAhTRRer At @ 2

Options:
1) 35%

2) 40%
3) 42%

4) 45%
Visit www.gmaths.in for tons of free study materials and latest exam updates.



Correct Answer: 42% Downloaded from www.gmaths.in
Candidate Answer: [ NOT ANSWERED ]

Question 29.Fiscal policy in India is formulated by

R H ISTh T Aifd Sl qa swear g ?

Options:

1) Reserve Bank of India
AR Retd

2) Planning Commission

GrSTT AT

3) Finance Ministry
IEEEIGD)

4) SEBI

et

Correct Answer: Finance Ministry
faea H#arera

Candidate Answer: Finance Ministry
faed #3rer™

Question 30.Which of the following has pH value 7?

FeffRea g g pH AR 78 2

Options:

1) Pure Water
3G ST

2) HySO,4

3) Sodium Carbonate

qifsan wEHe

4) HCI

Correct Answer: Pure Water
UG STt

Candidate Answer: Pure Water
G STl

Question 31.When ice cubes are made, the entropy of water

S S SAfd g, df STet Y Geardl___

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Options: Downloaded from www.qmaths.in
1) does not change

URRafdd gl gidt

2) decreases

T ST 8t

3) increases

9 ST &

4) may either increase or decrease depending on the process used

AT UfehaT TUATS 713, Tg ST §U U< IT 9 Tdhell &

Correct Answer: decreases

°e STl 8l

Candidate Answer: decreases

°T STl 8l

Question 32.Two vectors are said to be equal if

&) gfieer (FaeR) RER Bl & afe

Options:

1) only their magnitudes are same

chdel 3ch TThR Tch IH &

2) only their directions are same

Shaer ITeh! e Uah gt

3) both magnitude and direction are same

Ich SIThR 3R fe=m g Uah gt

4) magnitudes are same but directions are opposite

3ThR Ueh g foheg famd faudta gt

Correct Answer: both magnitude and direction are same

Ich SIThR 3R fe=m g Ueh gt

Candidate Answer: both magnitude and direction are same

Ich SIThR 3R fe=m g Ueh gt

Question 33.The chemical component that is invariably found in all viruses is

i 91 I e sifAarid: g+t fawruget # arar sirdr g2

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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1) proteins

s

2) lipids

fafie

3) DNA

SIS Y

4) RNA

SARUYAY

Correct Answer: proteins
PIrdC]

Candidate Answer: DNA
SIRERY

Question 34.Which is used as an Air pollution indicator?

I1g UGHUT Gk & ¥4 H fAmfefad J & ool s st g ?

Options:
1) Algae
Aare
2) Fungi
R

3) Bacteria

fersmoy

(srerIRa)
4) Lichens
AR

(<)

Correct Answer: Lichens

GIECE!
CED)
Candidate Answer: Lichens

ATgeh
CED)

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 35.The study BXaxsaeacked Krewn wevw.gmaths.in

Uddi oh ST hl &RIT hgd & ?

Options:
1) Oncology
3ffehtettot!

2) Lithology
31AHE T (ferertarst)
3) Orology
NN

4) Ornithology
SRMAAATST

(afera=mTon)

Correct Answer: Orology

NINCISE

Candidate Answer: Orology

MK

Question 36.Salination of soil is caused by

el oh AqUfIeh Ul fohd hRUT gIdT & ?

Options:

1) Pesticides
BiECTIR]

2) soil erosion

Iff et

3) excess irrigation
31feres R

4) crop rotation
thdcl

Correct Answer: excess irrigation
37frep &=
Candidate Answer: Pesticides

BECTIR]

Question 37.1CC World T20 in 2016 was won by
a9 2016 # 37E &Y i g ehu 120 fRare fohaa sitar 2

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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1) India

WRd

2) England

3) New Zealand

Foilavs

4) West Indies

IR 2N

Correct Answer: West Indies
T 2

Candidate Answer: West Indies

% gretel

Question 38.Which one of the following was established with a definite provision under
an Article of the Constitution of India?

fAfeRaa # & fohgeh! WmuHT YR dfdur & srgeee & el RfYd Iusy & IR &6l 77 ot 2

Options:

1) Union Public Service Commission
Y ofich QaT STINT

2) National Human Rights Commission

ST AT YRR STRNT

3) Election Commission
AT ST
4) Central Vigilance Commission

eI Gelchd] ST

Correct Answer: Election Commission
AT ST
Candidate Answer: Election Commission

AT ST

Question 39.The President can advance money to meet unforeseen expenses from the

Irsgufd Ffafea # @ forg ety & fendt sracnfia @< & foig oF & Jenrd 82

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Options: Downloaded from www.gmaths.in
1) Consolidated Fund of India

WRd <hl GRfhd [

2) Grants of the Central Government

he%; UXehR I ST

3) Aid from the Union Government

Y TXhR ! Ggraar [Afd

4) Contingency Fund

TR e [AfY

Correct Answer: Contingency Fund

3MTehfdes f[Afe

Candidate Answer: Contingency Fund

3MTehfdes f[Afer

Question 40.The famous Vishnu temple at Angkor Wat in Cambodia was built by

hrellTSaT # d Siver aTe a1 Yuidieg, faso-AfRR fhet arfamar o 2

Options:
1) Shrutavarman

CGELT]

2) Suryavarman |l

haH |

3) Indravarman

EE-ChE]
4) Aniruddha

fEg
Correct Answer: Suryavarman Il
ghad Il

Candidate Answer: Indravarman

goaH

Question 41.In IT, the technique of delaying outgoing acknowledgements temporarily is
known as

3MS.&. A SMSENET TeHTetoTie ohl SRR 0 T 2R T 9o hl deheileh ohl T Thed & ?

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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1) AR Acknowledgement

U 3R U TcioTHe
2) AR request
U 3R Rede

3) Piggybacking
foeftafeh
4) Piggyframing
forfithfam

Correct Answer: Piggybacking
forfraifeh

Candidate Answer: [ NOT ANSWERED ]

Question 42.1f speed of rotation of the earth increases, the weight of the body

gfe gt & guie i fd ¢ STt 8, at IR a1 aer
Options:

1) decreases

g S

2) increases

Sl ST

3) remains the same

EERE

4) may increase or decrease
°c I1 96 JohdT &

Correct Answer: decreases
Y SITaT

Candidate Answer: decreases
Y SITaTI

Question 43.Which among the following countries is facing debt crisis?

FEfefRed & & siHd 3 d kur-dehe § ?

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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1) China
EIE|

2) Canada
heTsT

3) Germany
STHAT

4) Greece

g ()

Correct Answer: Greece
g ()

Candidate Answer: Greece

T ()
Question 44.The new symbol of Indian currency is designed by

TR T ST 74T Uclten-faeg foha feSime foham a1 2

Options:

1) Santosh Kumar
Y HHAR

2) Y.V. Reddy

GIEGIRe]
3) Udayakumar

4) Dr. Rangarajan

SI. TR
Correct Answer: Udayakumar

Candidate Answer: Udayakumar

Question 45.What is MUDRA?

g1 (MUDRA) T8 ?

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Options: Downloaded from www.qmaths.in
1) Development and Refinance Agency

farma 3R gafdea o=t

2) Scheme for Agricultural Insurance

Y ST FrorT

3)\ New Planet Discovered

GISTT 1 991 Ug

4) Development and Regulatory Authority for Urban Township
M TRIGRT o foru faeerg iR FRamaes urferen<or

Correct Answer: Development and Refinance Agency
faerra 3R gafdea o=t
Candidate Answer: Scheme for Agricultural Insurance

TR e Ao

Question 46.Which of the following is not correctly matched?

fAfofed 7 @ forgerr A Tgl A8i 8 ?
Options:

1) Sania Mirza - Tennis

aifaar fast - g

2) Sania Nehwal - Badminton

IET Agard - sefife

3) Mary Kom - Boxing

Y I - FifeRIT

4) Pankaj Advani - Wrestling

GehoT STTSaTuf] - e

Correct Answer: Pankaj Advani - Wrestling
Gehsl HATSaToft - et

Candidate Answer: Pankaj Advani - Wrestling

Gehol ATSaToft - et
Question 47 .Which of the following State is surrounded by Bangladesh from three sides?

fAafafea § 9 fg Tsg & 19 % gt i dimr g ?
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1) Nagaland
EIUISTS

2) Assam
STHH

3) Arunachal Pradesh
IO ST

4) Tripura

Correct Answer: Tripura

g

Candidate Answer: Assam
STgH

Question 48.Which enzyme digests proteins in the stomach?

MR ...........T-oT13H UIEH bl TaTH & HGE T g ?

Options:
1) Trypsin

2) Pepsin
ofed

3) Salivary amylase
[S1E

4) Pancreatic canal

AT edT

Correct Answer: Pepsin

afed

Candidate Answer: Trypsin

feuda

A

Question 49.Fermentation is a type of process .

fohUe Ueh TR <l gl

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Options: Downloaded from www.qmaths.in
1) Aerobic Respiration

arg a9

2) Anaerobic Respiration

Jrarafay a9

3) Exothermic Reaction

AT ST srfafoRar

4) Transpiration

Correct Answer: Anaerobic Respiration

JrafaT g

Candidate Answer: Exothermic Reaction

AT ST srfafoRar

Question 50.The first Muslim to be elected President of 'Indian National Congress' was?

VR ASERT R R AT 7T T2H HiETH 378l i o7 ?
Options:

1) Maulana Azad

CIRICIECII

2) Mohammed Ali

HeHe el

3) Badruddin Tyabiji

CIATAC RS LI EH

4) Shah Wali-ullah

RMME-aetl-IeelTe

Correct Answer: Badruddin Tyabji
S TAL KIS

Candidate Answer: Badruddin Tyabji
IETE - qeSlt

Question 51.A,B and C contract a work for ¥ 440. Together A and B are to do 9/11 of the
work. The share of C should be:

A, B 3R C fordl s ahl T 440 H ehd ST SehT AAd &1 A 3R B ol e 9/11 YT s &g 81 C
T AT T T A1IRT ?
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1) 75

2) 90
3) 100

4) 80
Correct Answer: 80
Candidate Answer: 80

Question 52.A dealer marks a washing machine for ¥ 7500, and allows a discount of 6%
on it. Find the selling price

Qe fachar anfir #2fiF W sifchd g ¥ 7500 foraar & SR 39 UR 6% <hl e dT & | IqT faehl ge
ITd hifSIg ?

Options:

1) 6850

2) 7050
3) 7250

4) 6950
Correct Answer: 7050
Candidate Answer: 7050

Question 53.The sum of the cubes of two numbers in the ratio 3 : 4 is 5824. The sum of
the numbers is:

3 : 4 & IuTd H 3 J=ATSHT & °H1 okl A1 5824 &1 H=AT3HT ohl I foham 8 2
Options:

1)

(5824)1/3
2) 28
3) 24

4) 14
Correct Answer: 28
Candidate Answer: 28

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 54.Loss of 20R3@Wsdmagleekéne By vaWywAMad iisebat price. What is x?

fareh! 5o TR 20% <l 8119, &1Td o & x% bl g1 o SRR g1 x foha= 8 2

Options:
1) 20%

2) 20

3)

'lﬁzcy
37

4) 16
Correct Answer:
16%%

Candidate Answer:
16%%

Question 55.In a motor of 120 machine parts, 5% parts were defective. In another motor
of 80 machine parts, 10% parts were defective. For the two motors considered together,
the percentage of defective machine parts were

120 72 goit bl Aex & 5% ol @x1a 21 80 AT Gt hl gust Alex 7 10% Yot @xia &1 &t
et oht ATenR @RTe Afi=t gt a1 ufderd fehd= o 2

Options:
1)7

2) 6.5
3)7.5

4)8
Correct Answer: 7
Candidate Answer: 7

Question 56.If (23)2= 4% then 3 is equal to

gfe (29)2 = 4% @Y, ot 3% fohgdh RIeR & ?
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1) 3

2) 6
3)9

4) 27
Correct Answer: 27
Candidate Answer: 27

Question 57.A train, 200 m long, is running at a speed of 54 km/hr. The time in seconds
that will be taken by train to cross a 175 m long bridge is

200 Hiex ot Teh &1 54 fob.HY. /g1 i 1fa O e @1 81 175 Hiex o+ Yl ohl g foha 97
(Qhve) # UR il ?

Options:
1) 12.5

2) 20
3) 25

4) 10
Correct Answer: 25
Candidate Answer: 25

Question 58.Which of the following ratios can be the ratio of the sides of a right angled
triangle?

fAfofed 7 @ ea-a1 srgurd geeRivfia Rgst i JSisit o1 gt HehdT 8?
Options:

1) 9:6:3

2) 13:12:5

3) 7:6:5

4) 5:3:2

Correct Answer: 13:12:5
Candidate Answer: 13:12:5
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Question 59.Number of2¥¥Y Rt EHh BodrwMeagRate. Han-colinear points is

It G foigatt @ foha=t ged T ST end & ?
Options:

1) exactly one

had Th

2) two

al

3) three

d=

4) more than three

dH & srfden

Correct Answer: exactly one

had Th

Candidate Answer: exactly one

ehael Jeh

Question 60.Value of (cos 53° - sin 37°) is

(cos 53°-sin37°) RIAF AT ?
Options:

10
2) 1
3) 2sin 37°

4) 2 cos 53°
Correct Answer: 0
Candidate Answer: 0

Question 61.

1 5x
If 4x+~ =5,x#0, then the value of —————— i
S X en the value of o — 0 ——is

1 Sx

UG ax+ L =5 BLA m2riox 41

@1 | ST ?
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1)1/2

2) 1/3
3) 2/3

4) 3
Correct Answer: 1/3
Candidate Answer: 1/3

Question 62.

If C+l= V3, then thevalusof 3+ 1 is equal to
c c?

ﬂﬁc% -va gl c’+é HIAA

ad aER g ?
Options:
1) 0

2) 3v3
3) 1/v3

4) 6v3
Correct Answer: 0
Candidate Answer: 0

Question 63.What least value must be assigned to *’ so that the numbers 451 * 603 is
exactly divisible by 9?

"' opT AT fohaTT Heur @1 ST foh 451*603 I¥&m 9 ¥ gt avg fawifSia gt g 2

Options:
1)7

2) 8
3)5

4)9
Correct Answer: 8

. _Candidate Answer: 8 .
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 64.The average of 9 observations was found to be 35. Later on, it was detected
that an observation 81 was misread as 18. The correct average of the observations is

9 T&TuTt oAl 3T 35 <& TAT| &G H UdT IeAT fch Befur 81 ol TTerdit & 18 UGl 71T UT| NeuT oht Hat
3Nad foham g ?

Options:
1) 28

2) 42
3) 32

4) 45
Correct Answer: 42
Candidate Answer: 42

Question 65.If x = 222,y = 223, z = 225 then the value of x3 +y3 + z3 - 3xyz is

gfex =222,y =223,2=2258, @ x3+y3 + 23 - 3xyz I A AT & ?

Options:
1) 4590

2) 4690
3) 4950

4) 4960
Correct Answer: 4690
Candidate Answer: 4690

Question 66.

If x= 3”3 _ 3-1/3then 3%’ +9x is equal to

g x= 313 - 3-1/3 %,?h ax* +9x Pl
IH b seet g ?
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15

2) 6
3)7

4) 8
Correct Answer: 8
Candidate Answer: 8

Question 67.Two circles touch each other internally. The radius of the smaller circle is 6
cm and the distance between the centre of two circles is 3 cm. The radius of the larger
circle is

2t g Qeh qER Y 9fax Y 37k wef e F1 B g Y e 6 4. 2, o < it 3 At &
o 3, 21 52 g o roar et 2 2
Options:

1) 7.5cm

7.5 Q..

2)9cm

9 9.4t

3)8cm

8 9.4,

4) 10 cm

10 @ ..

Correct Answer: 9 cm

9 g.H.

Candidate Answer: 9 cm

9 g.H.

Question 68.PQR is an equilateral triangle. MN is drawn parallel to QR such that M is on
PQ and N is on PR. If PN = 6 cm, then the length of MN is

PQR T GHaTg A9fst 81 MN, QR & GHiaR 39 UehR 11 747 @ foh M,PQ tR @ 3R N, PR TR 81
gfe PN = 6 .. g1, @ MN &Y &g fohat glft 2
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1) 3cm

3 9.4,

2) 6 cm

6 9.4

3)12cm
12 &4

4) 4.5cm
4.5 3.

Correct Answer: 6 cm

6 .4

Candidate Answer: 6 cm

6 .4

Question 69.If cosec 6 + sinB = 5/2 then the value of cosec®O - sin8 is

gf& cosec 6 + sin B = 5/2 8, dd cosec 0 - sin B &I AT T hiforg ?

Options:
1)-3/2

2) 3/2
3) -v3/2

4) V3/2
Correct Answer: 3/2
Candidate Answer: 3/2

Question 70.Two men are on opposite sides of a tower. They measure the angles of
elevation of the top of the tower as 30° and 45° respectively. If the height of the tower is
50 m, the distance between the two men is (Take v3 = 1.73)

&l caf<h Uap alar <l fqufka feamstt & @S §1 & efar o fiY a1 I7d hivT shasn: 30° 3R 45° ATUA § |
g efar Y Farg 50 Hiex & at g1 safhal & ot &t g fha= & 2 (AFT V3 = 1.73)
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1) 136.5m
136.5 #.

2) 50 v3 m
50 v3 .

3) 100 v3 m
100 v3 .

4)135.5m
135.5 #.

Correct Answer: 136.5m
136.5 =Y.

Candidate Answer: 136.5m
136.5 =Y.

Question 71.The radius and the height of a cone are each increased by 20%. Then the
volume of the cone increases by

Qe i ol FBream 3R $ams Uk ht 20% e feam Siran g1 at Qi a1 STrId= fohd =T a1g Sirgem 2

Options:
1) 20%

2) 20.5%
3) 62%

4) 72.8%
Correct Answer: 72.8%
Candidate Answer: 72.8%

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 72.A bar grapPsvsn|e@eie d iR oV Y ain etk ddks. Study the bar graph
and answer questions

R UTh ohl 3TeFT hIfSIT 3R T=ffRAT usti & IR ST U1 & 6 udd fRReRT &t Fems gl
T gl

000

8200

. 7500
E e — 6500
P
A
T
L3

0

[

B Murian Paaki

B

8

] 2 = g

The average height of all the peaks (in meters) is

UTh H 6 Udd fRIERT <t Inars et w2t 1 gt FAaRt i sftder g (Hier 7) F1d hifsg 2

Options:
1) 7601.5

2) 7600
3) 7599.5

4) 7610
Correct Answer: 7600
Candidate Answer: 7600
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Question 73.A bar grapP S| eqte e digrid ovswnaimakh ddks. Study the bar graph
and answer questions

R UTh ohl 37T hIfSIT 3R T=ffRAT usti & IR ST U1 & 6 udd fRReRT &t Fems gl
T gl

000

8200

H L
.
I oo
E
h
¢ oo
3
i
[
4o
m
.
(I
'
"
P
10
L

mmmmmmmmmm

B

8

] 2 = g

Which peak is the second highest ?

TR e ST AR spldr 8 ?

Options:
1)B

2)C
3) A

4) E
Correct Answer: C
Candidate Answer: C
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Question 74.A bar grapP svsn|e@eie d iR oV Y Ein ek Bddks. Study the bar graph
and answer questions

R UTh ohl 37T hIfSIT 3R T=ffRAT usti & SR ST U1 & 6 udd fRReRT &t Fems gl
T gl

000

8200

. 7500
E e — 6500
P
A
T
L3

0

[

B Murian Paaki

B

8

] 2 = g

Write the ratio of the heights of the highest peak and the lowest peak

Iedad fRER 3R fAFaH fRRER Y T8 Al SIUTd Jd13y ?
Options:

1) 22:15

2) 15:22

3) 20:13

4) 13:22

Correct Answer: 22:15

Candidate Answer: 22:15
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Question 75.A bar grapP st | Rathe H iRt oV yynainalh edks. Study the bar graph
and answer questions

R UTh ohl 37T hIfSIT 3R T=ffRAT usti & SR ST U1 & 6 udd fRReRT &t Fems gl
T 8l

E
]

8200

3600 8800
7500
6500
I

When the heights of the given peaks are written in ascending order, what is the average
of the middle two peaks?

gfe fow U gdq fRReRt hY T8 1RIE! ohe o fordl STt 8, Y Aem ok gt fAa”) anr stad ST § 2
Options:

1) 7950 m

7950 .

2) 7560 m

7560 .

3) 7650 m

7650 .

4) 7850 m
7850 #Ht.

Correct Answer: 7850 m
7850 .

Candidate Answer: 7850 m
7850 .

B d z
g 8 2

&
2

= B -] &
= ] 2 = g

Question 76.In the following question, out of the four alternatives, choose the word which
best expresses the meaning of the given word and click the button corresponding to it.

CREDULOUS
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1) FUNNY

2) SILLY

3) INNOCCENT
4) GULLIBLE

Correct Answer: GULLIBLE
Candidate Answer: GULLIBLE

Question 77.In the following question, out of the four alternatives, choose the word which
is opposite in meaning to the given word and click the button corresponding to it.

REASSURE
Options:

1) COMFORT

2) CONSOLE

3) INSPIRE

4) DISCOURAGE

Correct Answer: DISCOURAGE
Candidate Answer: DISCOURAGE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose
the correctly spelt word and click the button corresponding to it.

Options:

1) Defianse

2) Defyance

3) Difiance

4) Defiance

Correct Answer: Defiance

Candidate Answer: Defiance

Question 79.In the following questions, one part of the sentence may have an error. Find
out which part of the sentence has an error and click the button corresponding to it. If the
sentence is free from error, click the "No error" option.

Too great a (A)/ variety of studies (B)/ distract the mind (C)/ No Error (D)
Options:

1) A

2) B

3)C

4)D

Correct Answer: C

Candidate Answer: C
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 80.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

The severe cyclonic storm (A)/ has left behind (B)/ a trial
of misery (C)/ No Error (D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 81.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

My sister has been (A)/ interested in medicine (B)/ ever
since she was a child (C)/ No Error (D)

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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1) A

2)B

3)C

4)D

Correct Answer: D
Candidate Answer: C

Question 82.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Itis university of excellence.
Options:

1)a

2) an

3) also

4) one

Correct Answer: a

Candidate Answer: a

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 83. THA4EIFELECIVER It BidAks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

They have not had much time for social activities and |
have not

Options:

1) done so

2) either

3) also

4) gone

Correct Answer: either

Candidate Answer: either

Question 84.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Food was packed, and they , @ merry, delighted
party.
Options:
1) went off
2) start off
3) cut off
Visit4\)lset of
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Candidate Answer: set off

Question 85.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

pull a fast one

Options:

1) as fast as lightning
2) play a trick

3) carry a heavy burden
4) take a deep breath

Correct Answer: play a trick
Candidate Answer: play a trick

Question 86.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

grease the palm
Options:

1) dirty one's hands
2) work in a garage
3) slip and fall

4) bribe

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Candidate Answer: bribe

Question 87.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

turn turtle

Options:

1) slow like a turtle

2) turn like a turtle

3) over-turn

4) a game turtles play

Correct Answer: over-turn
Candidate Answer: over-turn

Question 88.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Action that is likely to make people very angry
Options:
1) Inflationary
2) Inflammable
3) Commensurable
4) Inflammatory
Correct Answer: Inflammatory
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 89.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

A humorous drawing dealing with current events or
politics.

Options:

1) Sketch

2) lllustration

3) Cartoon

4) Skit

Correct Answer: Cartoon

Candidate Answer: Cartoon

Question 90.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Act of mercy killing
Options:
1) Suicide
2) Euthanasia
3) Immolation
4) Asphyxiation
Correct Answer: Euthanasia
Candidate Answer: Euthanasia
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

They have had a real good time.
Options:

1) have had a

2) have had really

3) have had a really

4) No improvement

Correct Answer: have had a really
Candidate Answer: have had really

Question 92.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Electricity has modernized the march of modern events.
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1) revolutionised

2) developed

3) created

4) No improvement

Correct Answer: revolutionised

Candidate Answer: revolutionised

Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

The sales boy told the consumer not to touch the
products on display.

Options:

1) buyer

2) shopper

3) customer

4) No improvement

Correct Answer: customer

Candidate Answer: customer
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Question 94.A SaiBREEFd B O tAEERHRNCe is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Please make it a point to send the letter at my address.
Options:

1) on

2) to

3)in

4) No improvement

Correct Answer: to

Candidate Answer: to

Question 95.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Sunil and | helped to sell tickets.
Options:

1) we

2) us

3) me

V|S|t4 \Al\/lveém cs)\llr? or tons of free study materials and latest exam updates.
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Candidate Answer: No improvement

Question 96.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a

language is to listen.
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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One of the activities of a child before it is even born is

Options:

1) seeing

2) listening

3) understanding

4) talking

Correct Answer: listening
Candidate Answer: listening
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Question 97.A P3¥84§898 GV WitHS §tr&stions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a
language is to listen.

It is necessary for one to the language before
(s)he writes in that language.
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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1) sing

2) spell

3) speak

4) none of the above

Correct Answer: speak

Candidate Answer: speak

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a
language is to listen.

Multi-lingualism means
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1) speaking more than one language

2) speaking only one language

3) speaking any language

4) speech

Correct Answer: speaking more than one language
Candidate Answer: speaking more than one language
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following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a
language is to listen.

A child has been ever since it was born
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Options:

1) speaking
2) reading
3) walking
4) listening
Correct Answer: listening
Candidate Answer: listening
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Question 100.A°848¥age & YiVE With* 8 gliestions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a
language is to listen.

To know a language one must be able to?

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Downloaded from www.qmaths.in

Options:
1) Speak it as easily and naturally as a three year old
child.

2) Read it well all the time.

3) Write it quickly

4) Sing in the language

Correct Answer: Speak it as easily and naturally as a
three year old child.

Candidate Answer: Speak it as easily and naturally as a
three year old child.
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